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Which of the following is an even

function?

O f(x)=x3-2x

O f(x)=x5

O f(x)=x3

O fx)y=x*+2

a3l Jlgall 3223
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Identify the parent function f (x) of

h(x)=[x]-5.
O flx)=x
O fx)=x+5
O flx) =[«]

O fx)=x-5

daloVl Jlgall ayaxi

S f(x) Al A ads
h(x)=[x] -5



cuzl Jlga) S\ o=l

State the phase shift of skl dal)) ada
X m X m
y:COS(g'l‘E). _y:cos(§+5)



392zl 58S Jlgal

Determine all the zeros of D) el gan s
the function J(x) = x* — 4x3 — 32x*

F(x) = x* — 4x3 — 32x2%.

x=-8x=—-4x=0 a

x=—-8x=0,x=4 b



il Slybial J>

Solve the inequality: 1diliad) s
2x—3 2x—3
=1 >
x+4 = x+4 —
O (—OO’ - 4'] U [7! OO) a
O (_OO) _4) U [71 00) b

O (-%,-7) U (4 ») c

O (-%,-4) v (7,) d



duiliiall Jlgal) wuSyill L

Find the value of the expression: t_pral) dad aaf
- -12 V2
sih (ZCOS p ) sin (Zcos‘1 7)
-1 a
1
— b
2



&Syall 5oVl

Write a polynomial function of least idg days B e aganll B Al uis)
degree, with real coefficients, and i V55 — V5 Gaalig duida chlalaa
that has —/5,+/5, and i among its Aulidl) dipall Wylaal Cpaa

zeros, in standard form.

O fx)=x*—4x*-5 .
O f(x)=x3—ix*—5x—5i b
O f(x)=x%—ix*—-5x+5i .

O f(x)=x*—4x?+5 4



dralyylegll JlgaJl

Determine the vertical asymptote of Aall ) qanl Jad ada
. 1 1
the functlony_ln(x+§)—3_ 'y—ln(x+§)_3
1
xX=—-= .
o 5
O x=-3 b
1
x == .C
© 5



Condense the expression

4
log>15 + 6 log,x — 3 log,x

where x > 0.

Ilaiy)legll yasbas

Jgﬁlﬂ‘h:l,l

4
log,15 + 6 log,x — 3 log,x

X >0 daa



x=-5
x=2
x=5

Solve the equation:
3x

B -0

(

2
3

)

:ddalaad) A
3x

R

DM leall J>



Identify the angle that is coterminal

with the angle —g .

T
——+2
O = nm
O —+2nm
O —-+nm

O ——-+nm

e oLVl gl A Agiaal) Aghll ada
) —Z i
g Al
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Find the value of the expression: s yuatl) dad aagl
¢ ( Sn) ¢ ( Sn)
an|—— -
4 M
2
o V2 a
2
o1 b
2
o V2 .
2



dpsSll Jlgall slzy]

Find the inverse function of 2 Aol ) aagl
f(x)=4;x,x¢0. .xiosf(x)=4_x
@) f‘l(x)=x_4,x¢4 \
O 1 =T ** 4 b
O f_l(x)=x_1,x¢1 P
O rlx= x#=—1 d

x+1



—-13

13

Solve the equation v2x — 10 = 4.

4y izl dslsall J>

A2x—10 = 4 idlad) ga



xX—2
x—1
x+1

x+2

Which is a factor of
x°—xt+2x% —4x — 47

Jolally p8LJI (s 5

Ioble b b Lea

exd —xt+2x2 —4x -4



A team of climbers must determine
the width of a ravine in order to set
up equipment to cross it.

If the climbers walk 25 m along the
ravine from the chosen crossing
point, and sight the crossing point

on the far side of the ravine to be at

4y gll deslddl SUliadl J>

Gl Gase Caludiall (o (Gad aaag O
L0y gt Aa D) gl agadl

O gals)) Blilaes 25 M & pbaial) b 13
Al ) 19 B05 ¢ sanll Aawadiall Akiil)
gl salsll Bamd) dgal) (e gl

Sl pae O5S asd (35° L
e Gl Y ap

a 35° angle, how wide is the ravine?

Round to the nearest tenth.

N
| \\
a0~
~
Ll 352>y
L dt‘zsm
O X=17.5m a
O X=205m b
O X=357m c

O X=14.3m d



Jlg ! aud Sl

If h(x) =x% + 8x—4, ch(x)=x% + 8x—4 s}

find h (—2). -h (=2) 4
_8 a
—16 b
-12 p

—24 d



Jlgall syl Wglull Ciung

i d
[ ‘ Which of the following statements gl adind (K Al < lanl) ‘_.gi
- could be used to describe the end Sf (x) Al L3kl dolud) Crag!
ro) S
X behavior of f(x)?
I
| I ] vI
L L[
o lim f(x) = —oo, lim f(x) = o a
X——C0 X—00
O Jim f(x) = oo, lim f(x) = —o0 b
O lim f(x) =oo, lim f(x) = o0 <
X——00 X—0o

O Jlim f(x) = oo, lim f(x) = —o d



Jlg Ml sy

Given di‘_,zuj,,

f@W=Va-Tlandg@=x2+9, g@=x2+9, f@=Vx-1

find [f = g1)- 1 o glx)
O Jx2-8 a
O x+8 .b
O /x2+8 .c



. 1 .
Rewrite ———— as an expression
secx+tanx

that does not involve a fraction.

secx — tanx
secx + tanx

—secx + tanx

—secx — tanx

pa Yl §ygea 2

secx+tanx

dyiliall pylaill by
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